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o 1 1 1 3
ey N LA 1L e Y a0
0 1 2 2 3 1 3

= +2y+2y7 - logr + (—)—— (—) (4.1,)
;1( 1/4+Yr2 ) 70 nten g7+ ¥ 2 2 1\ 32 2
3 1\ 3438 +670+61+ 30071+ — 15 ~3l0

= - - T
r=1( 1/4"‘Yr2) 70 ToN Y TOy TOoNN 52 g

3 3 3 1 3
+3l//0(§) _Zl//1(§)+1_61//2(§) (413)
BiEFE

i AR EoFE Ry, % 20,000 fi % B, 2L E~ k Mathematica (289 (4.1) ~ (4.1,) Z3tHE T2
&L ENTNIRDIDTI2D, o
¥s i=5tieltjesGamma[s]; ¥, [p_] := PolyGamma[k, p]; V¥, :=Im[ZetaZero([n]]

1st degree

m 1 1 1 3

fi[m ] :=Z— 81:=¥a-_|-08[7f]+_11f9[—]
S1/4+y? 2 2 2

N[fl[20008]] N[gl]

0.0230167 0.0230957

ZOWIAZ 3HTETEL WD,

2nd degree

f2[m ] :=Z[

A1/ 44y’

1

]2 g2==nz+2¥a+2n-Log[ﬂ]+We[%]-%wi[§]

SetPrecision[f2[268686], 18] SetPrecision[g2, 15]
0.0000371006364 0.0000371006364
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ZOWNIANOHTETEL WD,

3rd degree 5
u 1
a5 ]
L/ 4y
3 3 3 3 3 3 1 3
83 1= ¥e’ + 370’ +6% +67 +3¥eva+ =¥z -3Logn] + 3y =] - = [=] + —up [ =]
2 2 4 2 16 2

SetPrecision[f3[20006], 16] SetPrecision[g3, 24]

1.4367786@2886916 x 1877 1.436778602886918 x 1877
ZOWHIFEA R ISHTET—HL D, ZOHTED 27 HTIZE > TORWOIT A OFH FEAE EE MR =9
LD,

2024.03.24
NEIL S SN
IS T

[ =8 A% |
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